Victor Larmy

AUX Z /(/[/4 1 03 Peim /2040
s | ;
3l 0 oo 050 o o olo 0 o |@ O
) s(q | Ka 2 K? ,)<~'1 )(N
M~4>
N - 4
b)) mezo Nzq (1]
2] M=20 N=5§ 4‘:() (5
) N
(:4 | |
5 (yi NA{ef
A= Mt N M+/u—4)
ANz N i
P N
8) {4,2,’}f“l,b,6}
7 )" (kK <)

AN AR AW AY Sy A



Ve

777

s/
s

T

& g3
Even Yo M/ RI L P: Pescar
S P(mIP) ]
P(Mie) = P(maP) _ P(MaP) P(mM) = ) )
l?(P) LP(/’L) [P(P) IP(P)
= 98.05
®(P)
P(p) = [P 8l = (PP PN L
IP(P) H(F/?(Mifut)) % (PR M)+ P(POR) + PP L)

PCpim) P(a) + P(PIR)IP(R) + P (Pjc)iP(t)

\)

- 01-0%5+ 0,406 ¥06-0725



i |
"'/[P(A;B) - IP(ANB) . w)
P (B) P (B)

- 2 PA0BD _ FTp(AIB:) IP(B) | p 5 IPO)
P(B) | P(B) ) P(b)

- P l?(Uh) _ P
(P(B)

5 /
) 1P(piA)= 1 P(B[A)=©

P(B) = IP(BA(AUAT)) = P(BOA) + P (Bas®)

- P(BLA) PCA) + P( B1AS) IP(A°) = %
1 5
3 3

2) P(BlA) =0 a2

() = 1P(BIA) IPCA) + PCBIA) IP(A°) = ‘32‘

s %

3) PGBIA =L ROIA) A hy mperts A
Py = 4

&



